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1 |[deiEE 1,496 420 1076 | 1 |ALWEmh 4,499 2,490 2009 |1 |[FREX 43 8 35
2 [BHEE 118 10 108 2 [t 56 10 46 PREETS 117 16 101
3 |5FE 121 24 97 3 |¥Bmh 22 4 18 3 |BRX 1,118 439 679
4 |=EHE 146 39 107 4 |#Eth 333 97 236 4 | FERX 4,495 1,357 3,138
5 |RREE 54 7 47 5 [l 150 69 81 5 | X=X 409 110 299
6 [ILFZE 53 11 42 6 [tHEE™ 30 4 26 6 | BERK 1,791 761 1,030
7 |fRER 157 29 128 1 |2EEH 864 311 553 7 |ZEHER 2,373 735 1,638
8 |XHEE 249 37 212 8 [m&RTH 1,306 447 859 8 [IHRK 103 50 53
9 |[IhARE 486 58 428 9 | KBrth 5,429 3,494 1935 | 9 [RIEX 315 136 179
10 [HEE 220 43 177 |10 3 40 13 27 10 [HER 51 20 31
11 [BEE 460 81 379 |11 [#EH 155 50 105 |11 [KAR 367 134 233
12 |FEE& 1,232 250 982 |12 |[Eiumh 71 17 54 12 [tHAXRK 614 139 475
13 | AR 528 90 438 |13 |[LETH 564 336 228 |13 AKX 2,064 904 1,160
14 [#ZJIE 554 146 408 |14 [Jnath 19 11 8 14 |FEFX 539 209 330
15 |FTiRE 388 95 293 15 [\EFh 48 18 30 15 |#2il X 510 132 378
16 |EILE 154 17 137 16 |#&ZEE ™ 104 10 94 HEETS 2,454 893 1,561
17 |BIINE 61 15 46 17 [&RH 70 32 38 17 [dLX 606 176 430
18 |fBHE 53 10 43 18 [ZfEmH 7 1 6 18 [FE/IX 106 78 28
19 [IUBLE 416 81 335 19 [—= 5 1 4 19 [HRIBX 505 181 324
20 [ EFFE 197 37 160 |20 |#%&Ath 26 5 21 20 FEX 114 25 89
21 [IFBIR 290 50 240 |21 [)\Ew 3 1 2 21 [RIX 254 64 190
22 |E%[EIR 539 113 426 22 |[ERJIH 3 3 0 22 |BfiX 591 263 328
23 [BHIE 173 28 145 |23 [wrAH 21 2 19 23 GIFJIX 491 171 320
24 =58 304 29 275 |24 [8ERRT 13 1 12
25 BB R 253 49 204 |25 [Bil&H 12 0 12
26 |ARAF 113 19 94 26 |FEETH 1 0 1
27 | KBRAF 269 53 216 27 [BAETTH 0 0 0
28 |[EER 95 10 85 28 | =Rt 78 19 59
29 [ ZEER 250 32 218 |29 [BEdd 24 2 22
30 |FIFRILIE 529 191 338 |30 [A#hdd 28 11 17
31 |BmE 35 7 28 31 |[S5h 25 3 22
32 [EiEE 104 24 80 32 |BRE T 466 93 373
33 |REIE 7 15 56 33 [BTHETH 32 6 26
34 [[LER 216 39 177 | 34 |@&iR 112 26 86
35 [lLAg 155 24 131 35 |FyiBH 47 7 40
36 [fEER 104 21 83
37 |BIIE 201 46 155
38 [BER 218 42 176
39 &R 84 12 72
40 (1B R 2,296 1,127 1,169
41 [{E5E 73 12 61
42 | RIBE 195 55 140
43 [RERIR 250 54 196
4 | K] 149 45 104
45 |ZIBR 114 22 92
46 [EEIRER 225 42 183
47 [hiER 1,605 627 978
16,053 | 4,288 | 11,765 14,663 | 7,594 7,069 20,030 | 7,001 [ 13,029
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